
1) çknwÃkËe x
3 +  3x2 +  3x +  1 Lkku Lke[uLkk ¼ksf ðzu ¼køkkfkh fhku yLku þu»k þkuÄku : x +  1

2) çknwÃkËe x
3 +  3x2 +  3x +  1 Lkku Lke[uLkk ¼ksf ðzu ¼køkkfkh fhku yLku þu»k þkuÄku :
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x

3) çknwÃkËe x
3 +  3x2 +  3x +  1 Lkku Lke[uLkk ¼ksf ðzu ¼køkkfkh fhku yLku þu»k þkuÄku : x

4) çknwÃkËe x
3 +  3x2 +  3x +  1 Lkku Lke[uLkk ¼ksf ðzu ¼køkkfkh fhku yLku þu»k þkuÄku : x + p

5) çknwÃkËe x
3 +  3x2 +  3x +  1 Lkku Lke[uLkk ¼ksf ðzu ¼køkkfkh fhku yLku þu»k þkuÄku : 5  +  2x
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x
3 – ax

2 +  6x – a Lku x – a ðzu ¼køkíkkt {¤íke þu»k þkuÄku.

7  +  3x yu 3x3 +  7x Lkku yðÞð Au fu Lkrn íku [fkMkku.
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